
In Questions!4 to!6, find the perimeter of each shape, leaving answers in terms of p.
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4 cm

3 cm 3 cm
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7. Use a calculator to find the perimeter
of the shaded area.

A

B

CO 29°

8 cm 5 cmD

8. Use a calculator to find the perimeter
of the shaded area.

B A

O

70°
18 cm 18 cm

TASK 3.6

In this task, O is always the centre of the circle. Give answers to 1 d.p.

In Questions!1 to!3, find each shaded area.

!1.
O

6 cm

150°

!2. O

12 cm 41°

!3.

O7 cm3 cm
78°

Mensuration 7
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4. Show that the area of this sector is

exactly 16p
9

cm2.

8 cm
10°

5. ODC is a sector of radius 4 cm.
Find the shaded area, leaving your answer
in terms of p.

OC

B A

10 cm10 cm

4 cm

80°

D

6. Find the value of A if the area
of the sector is 90 cm2.

24 cm

A

7. Find the area of the shaded segment.

74°

O

5 cm

8. If AB = 13 cm, find the area of the
shaded segment.

9 cm
A

B

O
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